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l\ Unit 3 Test Study Gruide
(Parent Functions & Transformations)

Block:

Topic 1: Introduction to Parent Functions - Linear, Absolute Value, and Quadratic

Identify each parent function, then graph:

Linear Absolute Value Quadratic
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Topic 2: Transformation on Functions
Describe each transformation rule:
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Topic 3: Absolute Value Functions

Vertex Form of an Absolute Value Function: {(¥)z o \ X -l \ e

Give the vertex, then graph each function. State the domain and range.
1. f(x) =,x-2]-7
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Vertex: (2 1"1\
Domain; 5\(\13 )
Range: 3‘““2"12
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The parent function of an absoclute jon i - -
o value equation is tra .
equation in vertex form and identify the ve nsfomed as described. Write the new

3. Shifted five units left, then reflected about the

4. Shifted one unit up and two units right, then

X-axis. vertically compressed by a factor of one-third.
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Graph each inequality.
5. f(x)<|[x+6|-4 6. f(x)>-2|x+3]
Yy 1 y
by l AKX
q A I Vil AVARES
111 4 14
) IOV Y 4
A R Rmama
x N TA T4 L 3 *
\ " ; ‘ l ‘Q\ \ A/‘ 1 :
: \ : y N \ N A\ 711 " : 4
'.|\ } V'..'k . \'1 \ ‘/‘ ///l
:.1 \\ ".'-.{'»\\‘,\"\i\ \‘. 71/
o R MEN Y &
Topic 4: Quadratic Functions

r Standard Form of an Quadratic Function:

80 = gy b X T

Vertex Form of an Quadratic Function:

L) = o (x-n)? v

“Give the vertex and axis of symmetry, then gra

ph each function. State the domain and range.

7. f(x)=x-2x-7 r
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Axis of Symmetry: _X=
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Vertex: _{! ;"8}
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7| 8 f(x)=-3x%+5

X= ."_(2} X=0 A Axis of Symmetry: =0
2(-3) vertex: (0 5)
Y=~3(0* 4% i ’ Domain: __1 R
=8 ‘ Range: C‘L\\\\j 561
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9. f(x)=(x+3)*+2 R
l ] Axis of Symmetry: %= "3
vertex: (~3,2
’ Domain: 5[\'&‘
Range: 3“_,\\522‘2(
10. f(x)=—(x-4)? y
Axis of Symmetry: %=
Vertex: _ L4,0)
* Domain: KRYK
Range: _1U} U 0%
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11, f(x)=%(x-5)2—6 At
t Axis of Symmetry: X=5
“ 7« Vertex: (5 ,-()
‘ i Domain: ?.(RS
Range: %.\ﬁ\\jz "("3

The parent function of a quadratic
equation in vertex form and identi

equation is transfomed as described. Write the new
fy the vertex.

stretched by a factor of four,

F) =Y (x -7\

12, Shifted seven units right and vertically

13, Shifted four units left, six units down, and
reflected across the x-axis, and vertically
compressed by a factor of one-half.

F00= -3 (x+4) -




raph each inequality.
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onvert each equation to vertex form. Then state the vertex.
6. f(x)=-xz—16x+64 17. f(x)=x2+2x_8
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opic 5: Piecewise Functions

ain and range.

raph each function. State the dom
2x+7 if x<-—4

y

Po- f(x)={ -}-x ifx>-4
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Domain: 2 @Y\
Range: SL ‘é\ \"Xﬁ \-S




